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1. The IPO system here is required totake the current dayof the week as well as the total price of the costumers purchase. it then performs a comparative process on the input to check the customer is entitled to a discount. The output would be given based on the process, telling the costumer if he is entitled to a discount or not.
2.  1.) Start
     2.)Input date, price
     3.)If date != Sunday
    4.)    if price >= #5000
    5.)        display "discount viable"
    6.)    else
    7.)        display "discount not viable'
    8.)else
[bookmark: _GoBack]    9.)    display"discount not viable"

